€

OAnNNA

M 12x1 8/12mm 3/4
1-11
: 7-30Vdc(8mm )
L5 5--40Vdc(12mm )
u . 12 1314 : 10%
\ : 10mA
dr' | of [mizxa 1.5V
4x1ED ] -25-15
+ 10%
: 2%
1-7 ) 10%
L5 - 1P67
0 12 1314 ) LED
= | :
d[] [ o] [mr12x1
— — (ENC): EN60947-5-2
4 x LED : 1EC68-2-271EC68-2-6
8mm
M8x1 M12x1 12mm
SW13 swi7
4mm 4mm
10Nm 15Nm
L1 L2 L3 L4 L5
PNP PNP PNP +
PNP L+ | PNP 1 L+ | PNP i L+
¢ 4 -0 2 ¢4
- am A g =
mm | omm | omm | ommo | omm mm | mA | KHz | mA ~N&_q - NG - | = ‘-- -
1-11 -- 40 12 8 60 | M12x1 M8x1 1.5 200 |IMO08-OPY-F1,5Q IM08-CPY-F1,5Q IM08-RPY-F1,5Q
1-11 5 35 12 8 60 | M12x1 M8x1 2.5 3 200 |IMO08-OPY-N2,5Q IM08-CPY-N2,5Q |IMO08-RPY-N2,5Q
1-7 -- 43 15 8 66 | M12x1 M12x1 200 |IM12-OPY-F002Q |IM12-CPY-F002Q [IM12-RPY-F002Q
1-7 7 36 15 8 66 | M12x1 M12x1 200 |IM12-OPY-N004Q |IM12-CPY-N004Q |IM12-RPY-N004Q
PNP "p "N" NPN
NPN NPN NPN +
NPN : L+ | NPN L L+ | NPN _- L
P
L= L- —\3

L=

Inter net:http//www.bannatech.net  E-mail:sales@bannatech.net I 15



	Sheet3

